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This is geometric because it 
forms an exponential graph.

This is arithmetic because it 
forms a linear graph.
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Since this is arithmetic it will form a line going 
up and to the right.

Since this is an exponential sequence it will form a 
curve going down to the right.

Since this is an exponential 
sequence it will form a curve 
going down to the right.

Since this is arithmetic it will 
form a line going down and 
to the right.

Since this is arithmetic it will 
form a line going up and to 
the right.
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75% of the students read between 1 and 9 books.

The middle 50% read between 1 and 4 books. (Q1 and Q3)

The top 25% read between 4 (Q3) and 9 (max) books.


